AB|OIZ|A AL 1.4404 R 7, EFIE =2 mhe!, Fe

Z0M =gl

=5 4Y/HIE o[0ix|

e

Ros
froei

Hn
2

ks

THE!:
22 a2 AHIQIHA ATl 1.4404.
17 AXH 1.4404.

™ ojF2|:
E

oH I
=

[ =
=.

Pl v,
Jr®
AL

OS=ZHH.

N2>

In kO
E o2

ol.

Ml

f|

3= LH:

AHQIE|A AR H O8] (K0208).
£ 7 2| LIAL DIN 933 (K0871).
2tA{ DIN EN ISO 7089 (K0868).

HMIME]:

MNZET} AUE |7 5= LIA (K0870).
£7F M2| LFAF DIN 933 (K0871).
EUXE 2 2| EE (K1161).
E3 HE s|=7} = LIAF (K1796)

-

= Qo

o

AHQIYA ABI1.4404 22 T8 EIJE =

2utg, 2= X2, FZ50lM =

xzl, F

Kinn

=EHs A B B1 D H L T 33
N
K0208.05505 55 12 8 M5x10 40 63 10 1000
K0208.08805 88 12 8 M5x10 40 9% 10 1000
K0208.10005 100 12 8 M5x10 40 108 10 1000

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 1/2



°
oISl =T o =
ZH|2I3I A& A8 1.4404 22 T8, EFHEH 20, & X2, F
Z0M =gl
=252Y
FEHS A B B1 D H L T %Lé
K0208.12005 120 12 8 M5x10 40 128 10 1000
K0208.15005 150 12 8 M5x10 40 158 10 1000
K0208.18005 180 12 8 M5x10 40 188 10 1000
K0208.20005 200 12 8 M5x10 40 208 10 1000
K0208.23505 235 12 8 M5x10 40 243 10 1000
K0208.25005 250 12 8 M5x10 40 258 10 1000
K0208.10006 100 19,5 10 M6x12 45 110 12 1000
K0208.12006 120 19,5 10 M6x12 45 130 12 1000
K0208.15006 150 19,5 10 M6x12 45 160 12 1000
K0208.18006 180 19,5 10 M6x12 45 190 12 1000
K0208.20006 200 20 10 M6x12 45 210 12 1000
K0208.23506 235 20 10 M6x12 45 245 12 1000
K0208.25006 250 19,5 10 M6x12 45 260 12 1000
K0208.35006 350 20 10 M6x12 45 360 12 1000

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



